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Notice for the candidates appeared in written examination against Cultural
Quota in ‘Level-2’ for the year 2023-24 held on 23.03.2024.

*khkkkkikkkk

As per the earlier notice dtd. 25.03.2024 the provisional answers key
to the questions for recruitment against Cultural Quota for the year 2023-24
was published against 50 objective type questions for information of the
candidates who appeared in the written examination held on 23.03.2024 to
raise objection to the provisional answer key and given time to intimate with
proper reason and Justification by 18:00 hrs. of 28.03.2024 in email ID
rrcbbs.org.in@gmail.com.

Basing on the response of the candidates, the final answers key is
published herewith at Annexure.

In this regard, it is to mention here that, the evaluation will be done on
the basis of the final answer key and no further appeal or request for any

changes will be entertained by RRC in future. Digitally
TI signed by
JYOT]

(SEifa/ Jyoti)
Chairperson/RRC(LA)
East Coast Railway, Bhubaneswar


rrcbbs.org.in@gmail.com
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Hindi [ English 3 gty [Ans
L &Y gEatHt a AR b FT IOTARS AT & | whatis the product of two numbersaand | ¢)
33-'[ HCF(a,b)= 1 S b where HCF(a,b)= 13, LCM(a,b)= 663? 8619
(ab)= 13, LCM(ab)= 663? | ,\645, b)51, c) 8619 , d) 8642
a) 642 , b) 51, c) 8619 , d) 8642
2. 10 Rae, 25 Pee, 15 @ae & aiawer | Three bells ring at interval of 10 min, b)9:30
: - W . 25min, 15min. If 3 bells rang together at
org gl g )
] m %I‘ af& 7:00 &t 3 7:00 hrs. then when will it ring together
afeat vd Jy a9 &1 R S again
T A9 a)8:30 b)9:30 ¢)10:30 d)11:00
a) 8:30, b)9:30 , ¢) 10:30 , d) 11:00 e AL T
3. IfEx, x+3,x+6,x+9HTx+ 12FT7 If the arithmetic mean of x, x + 3,x+6,x+ | d)4
: 9and x +12is 10, thenx=?
HHNOTAT ATET 108, Arx=? a1 b)2c)6 d)4
a)l b)2 ¢)6 d)4
4. AOBC U 31T ¢ foras et emd Ao, 3), AOBC is a rectangle whose three vertices b) 3v2
: mﬁ g . are A(0, 3), 0(0, 0) and B(3, 0). The length
0(0, 0) 31 8(3, 0) ¥ Hr illé & of its diagonal is:
(@)S (b)3v2 (c)3 (d)4 (a)5 (b)3v2 ()3 (d)4
5! g P(1, 4) 3R Q(4, 0) F AT Fr g FATE? The distance between the point P(1, 4) and | b)5
Q(4, 0) is
(@4 (b)s (c)6 (d)3v3 @4 ()5 ()6 (d)3v3
6. Wﬂﬂﬂ‘{‘&ﬂmzm T2 &, 3THT The surface area of a cube is 216 cm? ,its d) 216
volume is cm3
TITA FATE? (a) 144 FFAP (b) 196 FHC ©) | 1144 cm?b) 196 cm? ) 212 cm? d) 216
212 {#E (d) 216 FH? cm?
7 m#wg Mode in Statistics is the: c)
e T x a) middle most frequent value b) value value
a) R E b) o baia ! appear least frequent c) value appear appear
FATMAR RE@E AL ¢ Fed T most often d) none of these most
FRFIRREEAIE  d)FTHAARE TG gites
8. ﬁgaﬁmmﬁmmm A circle has a number of tangents equal to | d)
e (a)o (b)1 (c) 2 (d) Infinite Infinite
(@0 (b)1 (c)2 (d)3=d
9. T GATFOT 3x + y = 22 FT 801 (6, ) & ar k | If (6, k) is a solution of the equation 3x +y = | b)4
: FTHA FIT 87 22 then, the value of k is:
(@)-4 (b)4 ()3 (d)-3 @-4 (b)4 (93 (d)-3
10. T cosb = 1/2 ¥ arcoseco FTE? If cos6 = 1/2 then cosec B is : c)2/v3
a)2 b)1/v3 c)2/V3 d) v3/2
a)2 b)iN3 ¢ 2/v3  d)v3/2
11. IFAOTAT FIIfa FT30aT9g: 10, 7, 4, ..., ¥ | 30th term of the Arithmetic Progression: c)-77
10,7,4,..,is
(a) 97 (b) 77 (c) -77 (d) -87 (a) 97 (b) 77 (c) -77 (d) -87
12. afz uF Featew @ o i Sars | If the length of the shadow of a vertical a) 45°
x : pole is equal to its height , the angle of
ELEY m & aue ¢, A }{é 13 Ilé elevation of sun’s altitude is
FT 3e1Td PIT T 872 a)as° b) 60° c)30° d)75°
a)a5° b) 60° ¢)30° d)75°
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Hindi | English 7 Ans
13. FITS Y Tah JTATHR N 40 [AT x 22 A rectangular sheet of paper 40 cmx22cm | a)3.5
¢ i f
I 37‘"? ,is rolled to form a hollow cylinder o
¢, a0 oA 1 O W@ height 40 cm. The radius of the cylinder (in
ITT T S AT AT T ST aFF H | em ) is
ﬁm(mm FTE? (a) 3.5 (b) 7 (c) 80/7 (d)5
(a)3.5 (b)7 (c)80/7 (d)5 s S i
14. 176 mﬁqﬂwmmmaﬁw The number of revolutions made by a d)ao
T circular wheel of radius 0.7 m inrolling a
I_ SUULAR Repaot 1 distance of 176 m is: (a) 22 (b) 24 (c) 75 (d)
FEATFAE? 40
(a) 22 (b) 24 (c) 75 (d) 40 R
15. Sec? 45°—tan?45°=? Sec? 45°—tan?45°=? b) 1
a) 0 b)1 ¢-1 d)v2 a)0 b)1 -1 djv2 1
16. | g@rATAFATE, FvES fAT Cos (10°+6) = The value of 8 for which cos (10° + 8) = sin | a) 50°
: S 30°%is
Sin 30° &2 (a) 50° (b) 40° (c) 80° (d) 20°
a) 50° b) 40° c) 80° d) 20° A0 00
17. | ua A1d 4RI & Sidge 30 frrfrgdraae A boat goes 30 km upstream in 3 hrs b)2km
] : and 42 km downstream in 3 hrs. Determine /hr,
*WW*W” miﬁqff 3UH the speed of the stream and that of the 12
TTFIE L. TR arelt 3 ey 3R aa A boat in still water? km/hr
I AT AR a)3 km/hr, 9km/hr b)2km/hr, 12km/hr c)
5 : g : y skm/hr, 12 km/hr d) 10 km/hr, 15km/hr
a) 3 /e, 9 RRHI/EeT b) 2 A1 EeT,
12 /e ¢) 5 fa/EeT, 12 fRaT/EeT d)
10 fa#/EreT, 15 fReT/aer
18. | 800 sud AN AURCT AT aR 3 awf & | Asum of Rs. 800 amounts to Rs.920in3 [ ) 5%
years at simple interest. What is the
920 WBTGHZ-?[%’ WRW?" interest rate ?
a)2% b)3% c)5% d)7% a)2% b)3% c)5% d)7%
19 TS HTATTER S@Wﬁm 1200 g Hrex | Areaofa rectangular land is 1200 sqmtr. If c)20
: length of the land is three times the width , | mtr
%‘.aﬁaﬁﬁﬁualé ﬁﬂ?ﬁ?ﬁ?ﬂﬂa?ﬁ what is width of the land?
s;fhaﬁra'rsléw%? a)10 mtr b) 17 mtr  ¢)20 mtr d) 25 mtr
a) 10 #reT b) 17 AreX ¢) 20 AIeX d) 25 HieX
20. mmﬁ;mﬁmwmm Find which number is wrong in the series: | b)10
1,4,10,16,25
£:1,4,10,16,25 a)4 b)10 ¢)16 d) 25
a)4 b)10 c)16 d)25
21. afe vEdEA FT 75% ,90 ¥ argearAd If 75% of number is 90,find the number. b) 120
£ 00 b
| a)l )120 c) 125 d) 150
a)100 b)120 c)125 d)150
22. aﬁ- 'NOIDA' ﬂ IPQKFCI ﬁm Ardar g' If ‘NOIDA’ is coded as ‘PQKFC’ then KOCHI a)MQE
ill be coded as
ar KOCHI #r &1 for@r Simean? o L
3 a)MQEJK b)NQBJK c)MQEM
a) MQEJK b)NQBJK c)MQEML d)MYBJK ) INEEMLERIMYBIK
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Hindi English Ans
5 e 5 e T ke s | Fillwith correct mathematcal aper2to for [ chéss
the following :
Y HY:
¥ 21007(04=7
21070 4=7 a)+,- b)-+ )5+ d)-X
a)+- b)-,+ cC)u+ d)-, X
24. | FYUAL mmarqata, Statement 1:All dogs are animals , c) only
HAUA 2: Wm@g statement 2: Some cats are dog 2
llllwlliil: ¥ Conclusion:
5. mw"(’” [mg 1.all animals are dqgs |
3. mmv > v? 2.Some.cat|s are amtma S
4. mmma i.é\ll ammatl sare ca. S |
5 - ‘Some cats are animals
Al W Bler-a1/Q sy T8/ : ‘ et
a) el 1b) 1 3R 3 ¢) Facr 2d) AA FIg | which of the conclusion(s) are/is co
H’ﬁ a)only1 b)1 and 3 ¢)Only 2 d)None
of these
25. m st Fill in the series b)20
3,6,11, _,37
361137
2)23b)20¢) 19 d)27 a)23b) 20 c)19d) 27
S fixad [Coidismnssid)
26. m#gmmm—gf T E? W)rl\icdh Of[)thlile)k;ng ;;aircis Iincol;'rect? ;)ak.sta
e . - a)India: Delhi ri Lanka: Colombo i
a) $1R: feeel b) ATofeh: ¢) Pakistan: Lahore d)Bangladesh: Dhaka n:
) GTfEaTS: SRR d) ATEGR: ST Lahore
27. AT I IRTAATEH S et Y gl o Amit travelled west ward 5 km, turned left | d)
£ are o S : and travelled 3 km, turned right and 14km
- 1S (3 ,an travelled 9 km. He then travelled north 3
9 M#mﬁraﬁn o 333?'1?@( km. How far was Amit from the starting
3R 3 Frelt 1 T e ¢ | AT 3 p)°3":(‘ "‘t’)‘;’;k AT
a)3 km mc m m
RT3 faig & et g3 A?
2) 3 oY b) 5 T c) 10 e d) 14
R
28. A, Bﬁmgl C B ATEID, cFrRErgl A is B's sister. C is B’s mother. D is C's father. | d)
v ot EisD " - i
E, DAL A D#WWW?? D;s D ‘s mother. Then how is A related to (;;ane}l\
S : ug
a)GIGT AT b) el ¢ ¥ d) 9T a)Grand Mother b) Grand Father c) ter
Daughter d) Grand Daughter
29. mﬁﬂm%vwmmp Santosh Trophy is a national tournament a)
< for
WQ;WW w Footba
2) b) QT‘EWF‘]J@I ) a)Football for men b) Hockey for men c) |l for
gl ¥ R @Er @t d) Afansit & T gl | Kho Kho for men d) Hockey for women men
30. 2023 ODI mam#mmaﬂm Highest wicket taker in 2023 ODI world cup c)
drears i Wahe. . : Moha
; a)Ravichandran Ashwin b) mmed
a) Wriga 3rfRaet b) AvgFe ATt Mohammed Siraj Shami
¢) ArgsgE A [d) STHYIT TFE !ca)ulzﬂncigzmmed Shami d) Jasprit
31. W#mmmmmaﬁ Which is not a Navaratna'EU? S d)f ¥
) a)Container Corporation of India Hindus
b)Engineers India Limited ) National tan _j
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| Hindi “English FAne
a) Eﬁ?ﬂ'ﬁqﬁ?lﬁé}ﬁﬂ?m NESUGEE:] Mineral Development Corporation d) Coppe
T AR o) Wﬁﬁamm Hindustan Copper Limited r
g 9 Limite
d) RegwaTe s fafAes d
32. '\Qﬂaﬂqmgﬁ'amg'? What is power house of a cell? c)
& - a) Nucleus b) Golgi bodies c) Mitoc
2) . Spdlis ¢) FTFeTHIleg M Mitochondria hondri
d) mw d) Endoplasmic reticulum a
33. HETHT el é;ﬂaa#mm Salt Satyagraha led by Mahatma Gandhi a)1930
took placein  a)1930 b) 1934 c) 1919 d)
1
a)1930b) 1934.¢) 1919.d) 1932 HGHT AT | 1937
34. HATH W{@?ﬂ E{.Tvﬁ!mg‘? Alps mountain range located at ? a)Euro
' ?{{’N ZFRYOT 38R ¢) 3R a)Europe b) South America c) Africa d) pe
) b) ¢ d) F North America
AR
35. R 3 Ugel SATFeF & Fa Tans a5 oy | First Electric Train ran in India at b)
: a)Kolkata b) Mumbai c) Delhi d) Kochi Mumb
a) FITHTAT b) S ¢) el d) AT ) : ai
36. | guEs AW AR e geRaigdrg? | How many bones are there in adult human | 2)206
3 body?
37. gl A L8 Qe To [WEhK e Who got first Major Dhyan Chand Khel d)
Fra s Ratna Award Viswa
? a)Kapil Dev b) Abhinav Bindra c) Karnam nathan
a) HYer & b) eI fogr ) FoTA Malleswari d) Viswanathan Anand Anand
HeorRad) d) faRaare 3mg
38. HRA TR A fraa 3T How many organs are there in Indian b)3
Government?
a)2 b)3 c)4 d)s5 2)2b)3 c)4d)5
39. | gdHTe & 2a F SR dcgarar & What is the position of Indian Economyin | b) 5"
world at present?
FAAFATE? a)3dTb) 5 c) 74T d) 8 f 3¢ b)5" 7" d)8?
40. '\‘{##ﬁmﬁ%aﬂﬁ‘m?) The nearest planet from Sun is a)Mer
A a) Mercury b)Venus c)Mars d) cury
a) 4 b) Y ¢) FI d) Te¥ i Jupiter :
41. @qmwm‘mgv Statue of Unity is situated in d)Guja
b d a)Maharashtra b) Delhi c) Rajasthan d) rat
a) HERTSE b) fewell ¢) Toreret d) IR Guijarat
42. mﬁmmmmm Lightest noble gas available in atmosphere | b)Heli
> .
is um
FAE? : a)Hydrogen b) Helium c) Argon d) Neon
a) gT32YSTeT b) A ¢) 31T d) e
43. 'm’eff?ﬁ'm 7 Reta frad ganr ‘Theory of natural selection’ was proposed | b)Char
‘ 5 5 by les
yEaTad o arar are a)Aristotle b) Charles Darwin c) Johannes Darwi
a)3E] b) Ao 21fad ¢) ABTeH Hceikd) | Kepler d) Leonardo Da Vinci n
foravarsf gy far
44, aEeeT AR Frhd ATt Far AT g ? Alaknanda and Bhagirathi rivers meet at a)Devp
rayag
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a) #Aifeaex b) T ¢) fBex d) Fars

Hindi English Ads
a) CAYATT  b)WAIRTST ¢) gRE@r d) a) Devprayag b)Prayagraj ¢) Haridwar d) al
TEHATT Rudraprayag
45. IS T TS ] et 7 &2 National Animal of India is | diTiger |
a) ;N b) mc) ﬂgTd) aw a) Lion b) Chita c) Rhinoceros d) Tiger
4. | s TRHI] FolT T & wE The first Chairman of the Indian Atomic | c)
Energy Commission was Homi J
T
T Few A2 a)Meghnad Saha b) Vikram A Sarabhai c) Bhabh
a)AuATE | b) fAFA T IR ¢) Homi J Bhabha d) P C Roy a
2l S T d) O )
47. sy M FEd ZanrT f@r amar ar? | National Song was written by b)
fi8 . a)Rabindranath Tagore b)Bankim Chandra Banki
a !éiaalu 23"! aia?ﬂ' ﬂZT:ﬁ'
) b) ¥ = c) Chatterjee c) Sarojini Naidu d) Sri m
SAUEE arg d) A IRfeer Aurobindo Chand
ra
Chatte
rjee
48. HRAT 3d H Ta9 Far 7Y qo T Highest river bridge in Indian railway ison | c)Chen
a. 2 a)Jhelum b) Indus c) Chenab d) Tawi ab
a) oA b) Y c) R d) adr
49. FREOT ST aw s Fam@r Sar 2 Kargil Vijay Diwas is celebrated on b)
g 280 12) 26 Jul
a) 27 G_;mé b) 26 ¢) 28 a)27 July b) 26 July c) 28 Oct d) 12 Jun uly
d) 12 5
50. <1 W 3M3eye 2oy 7 @ Which is not a computer output device ? d) Key
ke a)Monitor b) Speaker c) Printer d) Board

Keyboard
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